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WAKAYAMA R=HFERE LRI
UNFEDE) FRReim J— R 1301010
BE iz 2011 31iL AfiI BitL 6111 [§ivi 81U
S 1ESS 45148| 100m B 5RO 18.95 (-1.6)| £/l @A) 1917 (-1.6)[BK RBI(O 2013 (-1.6)|]W  #HE ) 20.28 (-1.6) |88 AR Z=E() 2161 (-1.B)|IIP BE(1) 21.58 (-1.6)
FIFT &F NRWELEIST NRUELDST B2 )—h ZRNFR NRUELDIST
oEes [481ua| 100m E8B A2) A7 (+0.8) |[FH #HE(2) 17.62 (+0.8)| £ 3RIM(2) 17.63 (+0.8)[}2E @A(2) 17.85 (+0.8)|&FHMB BN (2)  17.88 (-0.7)|BEB H&(2) 18.25 (+0.8)|1t/Il B3L(2) 18.90 (+0.8) |0 {B#2(2) 18.92 (40.8)
NRWEEDST #CDEAC FIFT &F FRDEAC BRIk NRWELEIST FIFT &F ARWELEDIST
3FEE3 (4518 100m BB —E@®) 17.21 (-1.8)|EZ 35LE((3) 1754 (-1.8)|/id Z=F(3) 1767 (-1.8)|WIB &Z(3) 17.80 (-1.8)|HLE #®3(3) 17.83 (-1.7)|TE FEB(3) 17.95 (-1.8) (i@ HEE(3) 18.00 (-1.7)|fAd =#E(3) 18.04 (-1.8)
NRWELEIST BHBJAC NRUELDST FDEAC BB PR —k FIFT &F B P —k FRDEAC
eaEss [4gus| 100n A I8AG) 16.73 (-1.3)[FB ZFXK(4) 15.99 (-1.3)|2&B KW4) 16.03 (-1.3)|BAR F*(4) 16.24 (-1.3)| =B 1&BL(4)  16.46 (-1.3)[/\EF %K (4) 16.60 (+1.2)[BH BE4) 16.80 (-1.3)|hEA #i&(4) 1716 (+1.2)
BEPR)—k NRWEEIST S5 NRWELEIST MDD HAC e RDEAC NRWELEIST
5523 |4814B| 100m —JIl BB(5) 14.78 (+0.2)|UAX  6B&E(5) 14.83 (+0.2)|I|RT WEAXBA(G)  15.25 (4+0.2)|BL IHZE(5) 16.61 (40.2)|/I| & #ABA(G) 15.67 (+0.2) | I5A(5) 16.83 (10.2)[F+PwT EB1(5) 15.88 (10.2)|FHiB KB (5) 16.97 (-1.2)
MDHHAC NRWELIST FDEAC FDEAC ARAI\ FDEBAC FDEAC FIFT &F
4513| soon |BP 1EXG) 2:38.34[1EE& I5A(5) 3:04.44|bF #A(G) 3:06.92
RDEBAC RDEBAC RDEAC
eES3 |45uB| 10on |BM FIE) BIT C1D|EE IS&E6) 13.89 (-1 D Kk (6) 14.02 (1D [IL FEHBEE(6) 14.38 (-1 [IRAE #E(6) 14.47 (11|81 & (6) 1456 (-1D|HB 16#(6) 14.65 (-1D|WE KF(6) 14.81 (10.4)
FDEAC FCDEAC NRWUELEDIST DO HAC FCDEAC ARWELDST ARWELDST BHJIAC
4818| 800m BiA e (6) 2:26.08|185 F0®©I(6) 2:365.57|18%# %07 (6) 2:47.15|DE  #@.(6) 3:02.59
NRWEEIST RNDEBAC RDEAC NRUELDIST
s TE3| 48148] 800m fER 8B 4) 2:47.39| =B #&LL(4) 2:68.97[/\& &K (4) 3:01.07|AX  FRI64) 3:01.70|@B FEDB4) 3:05.70(18A Fi2(4) 3:05.93|h@B #HFE W) 3:06.90|HF L #3L(3) 3:08.70
Bi0AC DHHAC BE PRk RN MDHHAC FDEAC ARLELDST BErR)—k
N 1ETS |45148| 100m B 30 19.81 (3. 1) |@AX EZHF) 21.08 (3.1 |@F B 2261 (-3.N)|BEF HEBEF() 22.81 (-3.7) |8 W= 22.83 (-3. 1) |gIEB ZE#5(1) 23.33 (-3.7)
NRWELEIST FIFT &F FIST &F NRWELDST R DEAC FIST&F
oEw = [481ua| 100m bl B2 17.66 (0.0) | 1553(2) 18.41 (0.0)[;ttEB E3EF(2) 18.80 (0.0)|i)Il I (2) 19.62 (0.0)|[FB8F #TE(2)  20.31 (0.0)|=%F =k (2) 20.33 (0.0)|WO BETE(2) 20.35 (0.0)[BFL 15 (2) 21.48 (0.0)
NRWEEDIST FCDEAC =N FIST &F FBN DHHAC FCDEAC DHHAC
235w 3 (4818 100m NI ZEZ(3) 16.84 (-1.9)|5H EBFH(3) 17.92 (-1.9)|& X2 (3) 18.61 (-1.9) |HE MEC) 18.64 (-1.9)|{cEE FMEZ(3) 18.68 (-1.9)[&E 1DE(3) 18.79 (0.1)|E MLk (3) 18.92 (-1.9)|BA @S (3) 19.27 (-1.9)
DHHAC h2 81\ RDEAC FDEAC R DEAC FCDEAC NRUELDIST RDEAC
NaELE |45uB| 10on |BD_TERA) 6.4 (-2.6)|5FH REM4) 16.26 (-2.6)| K& 83K (4) M6 (-2.6)|275h2 #9o5o7-P@) 1128 (-2.6) (AR BRI (4) 17.46 (-2.6)|/8 WITE(4) 17.68 (0.0)|WUX =%(4) M1 (-2.6) | MEER(4) 17.86 (-2.6)
BEPR)—k RNDEBAC FIST &F FRDEAC FROEAC FIST &F BHJAC FIFT &F
N#EELE | 4518|100 o8 BxG) 15.32 (+0.2)|BP &HH(5) 16.33 (+0.2)|[WUA  ZEFi(5) 16.48 (10.2)|FE K (5) 16.60 (+0.2)|EW 4B (B) 15.64 (+0.2)|FW FIF(6) 16.84 (+0.2)|@BH*I 1%JH(5) 16.06 (+0.3)|BRS) BRE(H) 16.07 (+0.3)
AEINER FDEBAC FISTF MDHHAC BB PR —k NRUELEDIST DHHBAC FDEAC
45u8| 800m & B#EHG) 2:48.29|H L EFI(5) 2:65.62|50 #07E(5) 3:02.62| s #&h0(5) 3:08.85|#)kO EiK (D) 3:13.91|f8 BABER(5) 3:15.80
RF TigEmER-=R BEMSC FIFT &F NRWELIST FIFT &F
\eELS |45uB| 10on |BE FBEEG) 14.44 (+0.4)|BRED  #R(6) 14.57 (10.4)|SH 1EE(®6) 14.80 (+0.4)|FL R&(6) 16.04 (-0.3)| 518 {E#5(6) 16.06 (+0.4)|fE5 ZIK(6) 1672 (10.4) (WO HEIE(6) 16.27 (+0.0)|F08 1KE(6) 16.30 (+0.4)
/=) #CDEAC ARUELDST FDEAC NFWLELIST higmER-=R #DEAC DO HBAC
48uB| 800n £ ZK6) 2:32.72|=H8 B5(6) 2:38.92|F4%  ZEBX(6) 2:30.01|8K ZE&(®6) 2:45.13|BDP  IBEE(6) 2:48.42(1)\)  E#&(6) 2:52.91
TigEmER-=R RNDEBAC RIEMER-= higmEER-ER higmbER-=R hiEmkER =R
et g XS BBIK(4) 2:69.68| 8 BE(@3) 3:13.66|HiE M (3) 3:29.51@A BE4) 3:36.05| =% MZFI(4) 3:37.68|F8F ETE(2) 3:48.39
JSAFATAS|4R1E) 800N gt g p =T RIS BT & F DOHAC =)\
w (wind assist) : BEZ=Z
38168 PN BE =] [BE TE
9:00 = 13°C || o] 1.4 45%
10:00 55 14°C Jtx 1.1 46%
11:00 55 14°C bitsE 1.1 46% S FOFMFEE CER IR
12:00 55 15°C 3 0.3 48%
13:00 55 16°C FitR 2 41% HB75: W 5P
14:00 55 15°C £ 0.8 48% FowOBYHR: P BA
15:00 55 15°C JEE 0.3 58% MR EYIR: K8 BR
16:00 55 14°C E2ES 1.1 67% BREFmTEEYR: HLE &
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WAKAYAMA R=HTFLBE LR
E= ki 2011 311z A1 Btz 6111 [§ivi 8111
mEEs 49138 100m =11 $03) 11.03 (+0.5)[f8l =HE(3) 1.07 (10.5) (B8R JTH#E(3) 1.08 (+0.6)[;&H {BIT(3) 121 (10.6) |F#  §8(2) 123 (+0.6)[\RF EHK(3) 131 (-1.6)|WWB 86 () 142 (-2.2)|SR R#(3) 1.50 (4+0.2)
a FFK 2 PNTEE FSUN 58 2 R AP e
4518 400m £ 1B(@3) 48.78|MH  BB(2) 49.04| 02 F05(2) 50.08|RPEE RZE(2) 50.70|WUA  EBEE(3) 50.T2|/BEK XIEE(3) BO.T4|BA  EL(2) 50.92|&)Il FEK(3) 51.01
FFLK 2 ALK BESK B ALK BA 2
45138| 800m 2R i@3H2) 1:66.96|BF HBE(2) 1:58.60| B 2(3) 1:58.6T|NAR 2£F(3) 1:50.26 (&M, FEP(3) 2:00.22()110 #Hw2(3) 2:01.571|1RE  533K(3) 2:01.79|88B Bth(3) 2:02.34
BE FFWAL ALK AP IEAFFL EHFTW B B8
4818| 1500m EE VN E)) 3:60.79|fAE ARR(3) 4:00.82[)\AfR 2F(3) 4:04.65|2AX @3(2) 4:06.66|UIF BA(3) 4:07.58|d5H JD 4:10.36|lUK BREA) 4:10.95|H FRSB(3) 4:11.99
FFIE BHEFRW AL BA B0 FOFRLLIBERR AKX B5
45138 3000m (7% N S E)) 9:13.18|FH (D 9:18.93| Ldt  FIHR(2) 9:20.78| 88 [LK(1) 9:20.96| B  E#1(2) 9:36.51 KK  FA() 9:37.16|UA  AFD(2) 9:39.76| A & A(2) 9:46.08
CEP-AR B80T AP B80T TEE_P BT I s&lP
45138 5000m EE IPNE)) 14:42.43|S8  BH(3) 16:21.656| =+ RS(3) 1B:21T913)  =%6(3) 15:29.02|tE#E & (3) 16:41.09|h 8 Eif 16:41.34 (5088 28(2) 16:42.10|B L BSE(3) 16:56.45
FFRLAE AFWT B85 B5 MFWT FOFRIRC ALK =2
458738 10mH BH BI7(3) 16.73 (-0.5) |1BA —(2) 16.98 (+0.8)|#Rim L8%(2) 16.08 (+0.8)|Bt BZE(3) 16.11 (+0.8) [IRAS  #%(2) 16.19 (+0.8) @A Bt (2) 16.32 (+0.8)|ZE &(3) 16.33 (4+0.8) &)l & (2) 16.38 (-0.5)
52 FFLK AESF A2 HE AR AESF AESF
45148 400mH ZiE EQ) Bo.T0()II & (2) bT.05(#¥%  3BE(2) 57.33[thB  F0E(4) 5T.34|EIF #HE 57.34|B& L(3) B8.78[MBA —IE(2) 59.68|4Y 15 A(3) 59.94
AESF AESF AESF FFRWK Live.fas* KPR N FOFLK 85
48148 3000msc A= T E)) 9:58.60(F0B Z8(2) 9:68.78|4bW FRA(2) 10:00.43| 72 BE(2) 10:06.58(#AA  Bt(3) 10:06.69|/\&H E+1(3) 10:17.25|@LE  BSE(3) 10:19.30|cpl) BA(3) 10:22.65
B85 FFLK EFFITRL EFFITL HCREE B =25 B
TR IE— 20:12.84
48138(5000mW —Eva9-7
Bt BEZE(3) 1.85| K8 2 185/ EH 5=(3) 1.80|/\@) #E 170| K&K &EE(3) 1701/0\E  Z&=EH(3) 1.65 2% NIV 1.65
seus| == AESF FOFRLLIEERR BE MPWIRSY—Z AESF Ba® Live.fas ABR
KB =AXBR(3) 1.65
B0
=o KO BEW) 4.20|18H A 3.70
BB B S AR
15138 e ] HAQ) 6.56 (+1.4)|FAX SE(3) 6.563 (-0.2) (Bt BZ2(3) 6.43 (10.T)|BE BER(3) 6.26 (+0.) & BA(3) 6.17 (+0.8)[HB —=0) 6.08 (+2.0) [kl Kh(2) 6.07 (-0.8)[IBA 1&(2) w6.05 (+2.4)
I EAFFRL HESF 2R AESF AESF BRES ==
= RE $ER(3) 13.84 (11D |ER BAR) 13.46 (-0.7)[{£ARE #(3) 12.98 (0.0)[&R/Il KIT(3) 12.96 (F0.T)|BESE  #B/8(3)  w12.93 (+2.8)[kd L Kih(2) 257 H1.2)|BR St(2) 12.21 (40.5) [5AR HEW) 11.59 (-0.4)
— Eakid AESF AESF iz EE5u) BE MWL AESF
4EuB| g &g MZ4) 68.12 %&{E Sk (3) 50.85(F80 ¥ (3) 57.10|F8)I1 XK= (3) 56.93[2kO BRE(3) 50.07|ET BEE(2) 49.20(75  PBEIN(2) 48.98 %Bﬂ MWEQ3) 48.59
PNELE PN =2ju] AP PRI ARLE I wE =N
=wes |45us| B KEl #S(2) 13.68[J\#k  E2(1) 13.00|BX X (2) 12.08[Sk BE(3) 11.23(F)Il ](©2) 10.79|1RF BAQ) 10.27|@4  Z=3K(2) 9.83|HE BE(1) 7.23
FFRAE HCREE HCREE B BEER FMIRWIE BE BA
45138| maziE X FKRQ) 4017 Kg1 8US(2) 38.60|FEFT B#2(3) 38.00|/ll £ 1%&(3) 3T.37[/\Bk  B2(1) 33.30/;2/Il ®(3) 30.26| KT #®77(3) 30.23|F4R  Fi(2) 29.04
= I =250 BB #OREE B HoREE B8
48138 | -8 AT 8BI17(3) 40.03|1RHF BA(2) 45.27|KEB PR(EA) 45.26|;8]11 B(3) 43.70|AAX BER) 43.26|5H @K (Q) 41.30|@AF BA(2) 36.49[;08 =ZFE(2) 36.24
HCREE I B B85 AP FAFLIL =2 fOREE
83 |45138| 110nH BW REB3) 15.38 (-2.0) ?tﬁEa HE(3) 16.57 (-2.0)[}ZB Z&=(3) 19.37 (-2.0) %m BAG) 19.69 (-2.0)|#AR FUN(3)  19.81 (-2.0) pJEP B(3) 20.03 (-2.0)[xA& BL(©2) 20.51 (-2.0) |58 #HBH(2) 21.82 (-2.0)
89%0cp AR WERD BiED R SIFED B8F0p HED
seus| EE =K BBE®) 5.63 (-2.2)|8B FHAK(3) B.55 (2N |FS KE(3) 5.34 (+0.9)|8W HRE(3) 5.25 (-0.M|ZGE MG 6.2 (H0.N) BB PBIIFEER) 5.02 (-1.1D|EJIl #BA3) wa.83 (+2.6)[)IIR #BW(3) 4.79 (-2.9)
BEF0P fe2lldp gl B9F0p 890 BiEP Bef AEDP
158! B xE TIL—2J-(3) 13.24|%% BIEQ) 1M.78[188 £31(3) 1.37(K& HLYII—(2) 8.94|FH §FE(2) 8.79|Bh KH(3) 8.44| K& BE(3) 8.41%MB £(2) 8.13
WERD i) SIFED WERD popiil=s i) en SED RBD
+5130| maese xe TIL—2J—@3) 31.93[ K& HLYINI—(2) 27.34|18K2 BA(2) 25.65(2F Kih(2) 244|828 BK(3) 24.0T|BP Kth(3) 23.16|BM  BA(3) 22.85|%% BEQ) 20.36
T &G WERD fe2lllg PWERD P o P EEDP FoR P
w (wind assist) : BEZ=Z
48138 PN mEC = [B)Rm/sec EE% 48148 Kz e =] JEBES 2E
9:00 5 14°C B|d 0.9 23 9:00 2] 13°C | eleii] 1.4 45%
10:00 5 15°C Bl i) 1 25 10:00 55| 14°C JtE 1.1 46%
11:00 B 16°C e 1.7 28 11:00 551 14°C ks 1.1 46% S FOFFEE CRR RIS
12:00 5 16°C e 2.3 28 12:00 55 15°C ] 0.3 48%
13:00 b5 16°C E 1.7 32 13:00 551 16°C FitE 2 41% HBF5: s 2P
14:00 5 15°C F 1.5 25 14:00 55| 16°C ES 0.8 48% FowOBHR: PR BA
15:00 5 15°C 3 2.7 25 15:00 55l 15°C & 0.3 58% MR EYIR: K8 BR
16:00 5 15°C FAR 2.1 34 16:00 551 14°C EES 1.1 67% BREGREEYRE: HL &
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WAKAYAMA R=HTFLBE LR
E= ki 2011 311z A1 Btz 6111 [§ivi 8111
m@zs  |4818| 100m =i ENQ) 12.40 (0.0 BRI X3 (2) 12.73 (-0.4)| LW BB(@3) 12.90 (-0.4)|918 BE4) 12.92 (-0.4) (4T #tB(2) 12.98 (0.0)|®=WL 1B(3) 12.99 (0.0)|&F T~ BBE(3) 13.03 (0.0)|F@ra ZEP(?) 13.04 (-0.4)
a FFWAL TEE_D FHP FFRLK I AP MR AP
s8128| 400m THEIN FXEA) 58.95| F B&F4) 1:00.91|F%FF #BE(3) 1:01.08|FEF HETM4) 10114 [BW  #@TE(2) 1:01.35(878 E10(2) 1:01.75|WA  FE2(3) 1:01.96(% B(3) 1:02.09
AT FFLK e LIEIIpN MR AW =2 AR
45138| 800m W= FE(3) 2:21.31|Bh  ==E(2) 2:21.99|5FF B(2) 2:22.08[7BB &HHD(3) 2:23.47(1V@  IE() 2:24.01| B B8B83 1) 2:24.08|5@ EIN(2) 2:24.92 (R EBE(3) 2:25.03
=2jy] I TEE_P EEFIT]L B ALK FAFLIE EHFTL
45148 1500m B EQ) 4:42 2| KRR 1LFEQ) 4:44.00|BB HHN(3) 4:44.66|[] =B(3) 4:46.47|BFF 2E(2) 4:49.11|%8B EM(2) 4:49.69|FH R0Z=E(2) 4:50.73|fA R EBIE3) 4:51.08
FFIE REED EEFIRW B TERE_ P EEHFITRL i A el
45138 3000m B =B8@0) 10:17.16| 4% BPER(3) 10:30.36| 3L 1X#5(3) 10:33.89|21%8 ZEM(5) 10:38.98|g0E0  BEML(3) 10:65.16|AIE  165(2) 11:26.26| K8 2(3) 11:36.86| DE  ID#4(2) 11:54.33
B85 52 B0 ARUEIERLK BRE =0 EER IEIIES] IEIIES]
453138| 100mH A8 BiEB) 16.38 (-1.2) [ FmH(2) 16.43 (-1.2)|#EB BR(2) 16.64 (-1.2)|#2A& FI5(3) 16.68 (-1.2)|JB% () 17.61 (+1.0)|)I1E SEKE(Q) 17.78 (41.0) (B FH(3) 18.35 (41.0)|2FE @B (3) 18.41 (+1.0)
s s =250 AESF EE5Y B BE 58
48148| 200mH AR FI5(3) 1:07.89| /B BER(2) 1:09.29|B%  XA0(2) 1:10.26|=88  1BMML(3) 1:10.93)BE WMEE(2) 1:10.95(/M\ 11 FOEE(3) 112.62[)B% X1 (3) 1:13.88| AR =<5(2) 1:21.16
AESF =Epu] B AnE HE 2 =2 2
45138 5000mW g§ FEK(Q) 31:31.88 Q\Q% B (2) 32:18.61
= g
s8B! E= WA J3E(3) 1.65(R0E8  [XER(2) 160(8E ZEX(3) 14581t E(2) 140(P0O $&O) 1.30|F%f@ =EMW(Q3) 1.30(274 #IQ2) 125[%8@ it (2) 1.25
I jeyed (= =250 HoREE S FER D popldes @QEP
o |BE FEAH(3) 3.50
48138 | ES =
45138 | EiEpk BiR FiE2) 519 (-1 B ZEI](2) 5.18 (1+1.9) |88 [H#(2) 5.7 (12.0)|/N\E TB(2) 5.4 (-0.4) |8l BfE(3) 5.13 (+0.2)[EIL RE(2) 4.81 (40.8) |BE@E  WRJOTE(2) 4.71 (0N |INEs EBEE@R) 4.69 (-1.3)
e I e IR BE B Bx AESF
= ma ENQ) 1.30 (10.5) (8]l EfE(3) 10.93 (+0.3)[1\8s BE=E@3) 10.72 (F2.0)[(NE B (2) 10.61 (-0.2) |1l BIKE(2) 10.21 (+0.5) |¥WEB BH(2) 9.14 (-0.4)
— I B8 HESF AP akz AT
18| BnE BA BEQ) 12.09[F F&(©2) 9.88|AZE =<5(2) 9.64|LLR &) 8.86|)II0 EBZ=(3) 8.84|Z]ll B&(3) 8.30[=H 3 (3) T.44|P8  KRIK(2) 6.03
B MR BE IR fvias) BE AESF 58
4B138| mEE F EEO) 39.09|8M HHN(3) 31.T3|ARhF BE(R) 28.70|7E4& E2(3) 27.88|AZE =<5(2) 25.51|18 8= 24.08|78[@ IHFE(2) 23.15|848 ¥8E(3) 22.84
T R REE B85 =S5 B4 HE B8 BRES i)
1518| rogg [RBF BR®O) 8TT[UR &) 3.91EE BE®G) 35.18|50 BEWQ) 34.64|% EBEG) 32.T6| 2 TH&(Q) 28.00(% @I 21.06
B85 FFIE |1 R HCREE IENIIE=] k3
s8us| vniz BFE BEBSQ@) 39.82(=2H@ ZFE(@3) 20.12(32)I1 =) 26.55|F E5(3) 22.91(Bc  FHH(3) 18.80
I AESF i A [N BRES
453138 100mH F&HU B8(03) 14.85 (-0.4)|)IliF ZEERE(2) 16.26 (-0.4)|FA@F5  RRR(2) 16.37 (-0.4) |BEH  =ETOFI(3) 16.40 (-0.4)|BE E=EBB(2) 17.63 (-0.4)|EG BHA3) 1757 (-0.4)|R  BREIE) 17.61 (-2.2)|RM &K (2) 18.32 (-1.8)
FHP FHP FHP WERD popiies B9F0p NRWEEIST BED
t¥rs  |15uBs| EE BRI DX (2) 4.89 (+0.1D|F FEH(2) 477 (+0.3)|KE B%(3) 4.76 (+1.8)|@B+ EH#A(3) 4.71 (40.6) |FFB #x(2) 4.69 (1+0.9)|E ZHEA(3) 4.66 (+0.3)|5# #BK(3) wa.37 (2.1 (WA #EE(3) 4.33 (-0.3)
TRE_D BEF0p FHDP R R ED BeF0p 2P
1B 1uB| BRE BH E5(3) 131288 BX(3) 10.13|848 %8 ((3) 9.04(18K IWH(2) 8.80|2 T 2(3) 8.71EBE EX=(2) 8.38|[MMB =E14(3) 7.99[;8 ®8siE2) M
WERD JBRIE =0 oD puplds mED 85F0p AED Foag
w (wind assist) : BEZ=Z
48138 PN BEC EE) [B)Rm/sec 2E% 48148 Kz aE =] JEBES 2E
9:00 (5 14°C 5|d 0.9 23 9:00 = 13°C i) 1.4 45%
10:00 5 15°C B i 1 25 10:00 55l 14°C & 1.1 46%
11:00 5 16°C EES 1.7 28 11:00 55l 14°C bitsE 1.1 46% S FOFMFEE CER IR =
12:00 5 16°C AR 2.3 28 12:00 55l 15°C ] 0.3 48%
13:00 5 16°C EJ 1.7 32 13:00 551 16°C IR 2 41% HBF5: W 5P
14:00 B 15°C &= 1.5 25 14:00 58 15°C E3 0.8 48% FowOBYHR: P BA
15:00 5 15°C £ 2.7 25 15:00 55l 15°C JtE 0.3 58% MR EYIR: K8 BR
16:00 5 15°C FAR 2.1 34 16:00 55l 14°C E2ES 1.1 67% BREFmEEYR: HLE &@A




